SYDNEY GiReS #.S,— Year Eleven Test 1
‘ February 2003
Instructions Name .
Use separate paper
Show all necessary working

Question One (10 marks) % .

1 .
a) Evaluate —==——— to 2 decimal places
V532 -17

b) Evaluate |-5|-|7]
c) Evaluate 8.3x10" +7.1x10™ and give your answer in scientific notation correct to 2

significant figures.
d) Write 244 in simplest surd form.
e) Remove the grouping symbols: (+/3 + 4)(V2 - 5)
f) Solve for x and plot your solution on a number line: -5 <2x +7 <11

g If A=—;:h(a+b), find the value of a if 4=100,A=10 and 5=8.

Question Two (10 marks) o .
2) Solve 6-2x <14 b) Solve 22154 o) Solve [2x—5|=|x+2]

d) Solve by'completing the square x* ~4x-9=0 9 }
Question Four (6 marks)
Solve the following;

a) x’-5x+6<0 b)——>-§

Question Five (3 marks)

Show that 0.05 is rational

Question Six (3 marks)

Simplify the following, expressing the answer with positive indices.

oAy

Question Seven (6 marks)

a) Factorise x* — 5x + 2xy ~ 10y
b) Factorise 25— (x —1)?
¢) Factorise 8+(2- Jc)3

PTO




Question Eight (5 marks)

a) Solve %—iil:l

5
b) Solve the following pair of simultaneous equations.

y=x
y=x*+6x

Question Nine (5 marks)

a) Rationalise the denominator of S ‘
23

b) Given x = v/5+2, find & if x+~=2Vb
X

Question Ten (9 marks)

a—-3
3

a) Simplify

’

a —27 Y
x=2 3x*-3x+43 \j

b) Simplif x
)P G516 -4

c) Simplify — ! ! 2
x

+ -
-4 x+2 x-2

Question Eleven (6 marks)

a) The sum of a number and its reciprocal is 251_6 , form an equation and find the

number.
b) The sum(S) of the first n counting numbers 1+2+3+.....+n is given by the

formula S = %(1 + n) , find the sum of the numbers from:

i) 1to500
ii.) 200 to 500 inclusive.
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